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Candidates are required to give their answers in their

own words as far as practicable.
qlerdl qureE o 9=l § & I E{

This paper is divided into three parts. Part-A consists of
ten objective type guestions, carrying 2 marks each.
Part-B consists of five short answer type questions.

Part-C consists of four long answer type questions.

Answer all parts as directed.
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PART-A / @8-

(Objective Type Questions)

(sgfmedia ye)

Attempt all questions :

ol 9 I

(1) Cardinal Approach used the following concept to

[10x2=20]

explain consumer equljiihrium :
(a) - Indifference curve
(b) - Equi-marginal utility
- {c:_) Product Maximisation '
(d) Diminishing marginal utility
TEIGTS SReHT Iqed e B e &
Rra PreT omuren & SAM H@ R
(a) SN I
b)  TA-GHF ST
(c) TG W SMHT IR

(d) mﬁmﬁaﬂﬁ?ﬁw

9205-01/1380 (2)

https://www.ppuponline.com



ii the demand curve is vertical, it | -

. Whe:ents- AT SR gAK@ O S 7 &, A
re .

- 9 SO B 9N ©

(a) Unitary elastic demand .
(@) AT SO
(b) perfectly elastic demand |

b AT~
(c) Relatively elastic demand () TT
(d) Perfectly inelastic demand (c) AT T
@ T T

S W a6 Ie o §, A 98 Wi e @
(@) S AEER A .
average revenue is

b)  YoTedr SEER A o '
®) - (@)  Total Profit
(©) TOIH & § AR AT

(@)  Qoloar SRR AT

(v}  The difference between average cost and

(b) Average Profit -

(c) Net Profit

(i)~ Ifthe production isoquantis ‘L' shaped, then two : :
(d) Marginal Profit

factors are ! - . S
(@)  Imperfect substitutes ' _ o A O SR ST S A e
' 2ar &
(b} Perfect substitutes
(@) T AW
(c) Imperfect Complements ¢
(b) o @
(d) Perfect Complements
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(c) Positively Sloped

() Y& ©H
CI LR : _ _ ' (d)  Negatively Sloped
(v)  InOligopoly market we have : : Euf qfyfer & 0 B8 & AT T B FTrRR et
(a) Negatively sloped demand curve | adt & ?
‘()  Kinked demand curve (@) &R '
(b) S

(c) Positively sloped demand curve

{di Normal demand curve (c) EFI'W HEECIS)

Y R ¥ B U § (d) RS Nl A
(@)  FCUCTH STl AT T _ (vi)  For the function Q = A K*LP, which of the
(b)  Trpiem AT @

() SRR o ai ST

following is correct :
(a) * The degree of homogeneity is 1.

T(d) A A 9% (b)  Elasticity of substitution is equal to o+p.

(vi)  Whatis the shape of the demand curve of a firm (¢)  Output elasticity with respect to capital
under perfect competition ? is o . |
(@)  Horizontal ° : :
(d)  Marginal product of a factor = Average
(b)  Vertical product of the factor.
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Wmm.mu%ﬁmﬁmﬁﬁﬁﬁﬁzﬁwm i |
| | profitable if in different

W E 7 (ix) Price discrimination will be

sub-market the elasticity of demand is

e ——

(a) e @ e 18

(a) Same

(b) SRR @A op & I 8l

(c) @ & Ui IR @ o Bl (b) Different

@) GEE A i IR = HEd & oo (c) Less
ERLL | d)  Zero
(vii) The demand curve for Giffen Goods will be : | -t e BT AT S-S IR
(@)  Horizontal # A R AR
(o)  Vertical (a)- THEHM
(c) Sloping downward to right (b) Gﬁ'T—@lEFT
(d)  Sloping upward to right () W :
Rifte werer AT 56 a"]T : (d) L
(a) | Afers () Excess capacity is not found under :
(b) ST (a)  Monopoly

() = AR S Prar gew (b)  Oligopoly

d) T elR F Tl g (c)  Monopolistic competition

(d)  PerfectC it
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JAfafed Smes &\ ar el tlTé e L 4 Explain the determination of equilibrium with the help of

Cournot's analysis.

(a)  THIREHR H
(b) SRR ¥ , e 3 BT B werRn @ gge B AERr A
() s SR & e e
) - T‘( ufafEr § \/5/ Let total Cost C = 15.Q -6 Q++Q°
PART-B / 99 (@)  FindAC
(Short Answer Type Questions} : (b) Find minimum of AC
(wg Sl ) | : (¢) FindMC
Note : Answer any fﬂ;.lr questions of the following. [4x5=20] (d)  Show that for minimum AC = MC
R & & Rl 9 S 3 SR AR % G A G = 15 Q-6 Qe
2. Using appropriate diagram explain the difference between @) AC 519 BT

monopoly and perfect compétition.

ot N & o 2 (b) Acwwﬁaﬂmzﬁﬁm

e SR A R A (c)  MC ST T
3. What do you mean by price leadership ? Explain the @ SUE) L1 % fow Ac=MC
different types of price leadership. - \?/ Explain with the help of indifference curve :
Wﬁgﬁﬂmﬂaﬂﬂ%%?ﬁﬁ?m%iﬁqﬂ ()  Price effect
39 @ e Fifm .
_ _ (ii) Income effect
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Note :

(i) Substitution effect

Fordl 9% W TEEd ¥ AN Hf -

() I AEE
(i) ~ HE T
(i) Wi T

PART-C / #IFI-¥
(Long Answer Type Questions)
(@ sl )
Answer any three questions c;f the following. [10%x3=30]

Prefefa & & B &9 ol @ S A

How would you differentiate "Returns to a Factor” and

"Returns to Scale" ? https.//www.ppuponline.com

e % S @ A 3 R & 9 o 3
¥ B 7

Discuss the features of Cobb-Douglas production

function.

Ffg-2Tad IAET G # RN aeEdl
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10.

Derive the law of demand with the help of revealed

preference hypothesis.

sfed SR G B derar ¥ AT B P @
A i |

Explain how a monopolist can operate on increasing,

decreasing and constant marginal cost curve.

o Y Fed g, Ted §Y W R W W
Yarelt |3 w1 e ¢ 7 e Sk
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